7Z/HX Gedi? drr riIns

Repair Kit DGD021-Mk2

Pos |CPN Description Qty
1 DGD010 MK2 | Titanium axle 1
2 DGDO011 Hex coupler 1
3 DGD-020-L-A | Ring Gear 1 1
4 DGD023 Bearing 1/4 x 3/8 x 1/8 3
5 DGDO001-xx Spur Gear Diff - 64 dp 86 default 1
6 DGDO020 Ring Gear F1 1
7 DG1-Mk2 Double Hex 1
8 T2-F1-Mk2 Spring holder F1 Mk2 - See Repair Kit 1
9 HWO006 Self locking nut M4 - standard 1
10 |DGDO013 F1 diff cup 1
11 DGD021 Lock pin - See Repair Kit 1
12 | DGDO006 satellite 1
13 HWO036 M3 - Cone Set Screw - see Repair kit 2
14*  |HWO037 Set screw M3*3 - See Repair Kit 1
15* |FD12-4 Diff Spring - see Repair kit 2

- —

AN
/
o, \ g
\
/




